Math 121 Self-Assessment Quiz #3B
Answer Key

e Please see the course webpage for the answer key.
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w = cosf
Substitute | dw = — sin 6d6
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Standard u substitution to simplify at the start:

u=sinx r=0=u=0

du = cos xdx r=5=>u=1
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u +1

u = tanf
Trig. Substitute
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Standard w substitution for odd trig. integral / cos” 6 df technique:

w = sin 0@

dw = cos 0 db

you can also change one more limit if you rather

L
:/ﬂ(l—w2)2 dw = ...
0

3. Compute /12 dr =
(22 + )

1 1
de= | —————— 2sec’0 db
/(a:2+4) v /(4tan20+4)2 nee
sec?

1 1
2sec?’ df = | ———— 2sec’0 df = - | — db
/ 4se(329 See / 16sects <™ 8 / sect
1
8

1 9 1 [ 1+ cos(20)

1 1 sin(20)
=— [ 1+ 2 = — + +
16/ cos(20) db 16 (9 9 ) C

1

g 4 28in0cosd 2sm€cos€
16

1
+C = E(G—i—sin@cos@) +C

i arctan a; 2 +C = i arctan(£>+27x +C
16 \/g;2+4 VaZ 4 |16 2)  x22+4+4

T =2tanf

Trig. Substitute
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